

NAME - NSU-UYHAMADU ADALIE CHIDINMA

MATRIC NO - 14/MHSDI/257

DEPARTMENT - MBBS

ASSIGNMENT 8

1. $y - 3x - 2 = 0$ and $3y + x + 9 = 0$

SOLUTION

$$y - 3x - 2 = 0 \quad - \text{eqn 1}$$

$$y = 3x + 2$$

$$y = mx + c$$

$$m_1 = 3$$

$$\frac{3y + x + 9}{3} = 0 \quad - \text{eqn 2}$$

$$y + \frac{x}{3} + 3 = 0$$

$$y = -\frac{x}{3} - 3 = 0$$

$$m_2 = -\frac{1}{3}$$

Perpendicular lines $m_2 = -\frac{1}{m_1}$

$$-\frac{1}{3} = -\frac{1}{3}$$

$\therefore y - 3x - 2 = 0$ and $3y + x + 9 = 0$ are perpendicular to each other.

NAME: NDU-UYHAMAGU ABALZE (1110111111)

MATRIC NO: 19/MHJUI/257

DEPARTMENT - MOBS

ASSIGNMENT

2. $3y - 4 = 2x + 3$ and $y - 5 = x + 6$

SOLUTION

$-2x + 3y - 1 = 0$ - eqn 1.

$$\frac{y}{3} = \frac{2x + 1}{3}$$

$$y = \frac{2x + 1}{3}$$

$$y = m_1x + c$$

$$m_1 = \frac{2}{3}$$

$$y - 5 = x + 6$$

$$-x + y - 11 = 0$$
 - eqn 2.

$$y = x + 11$$

$$m_2 = 1$$

Perpendicular: $m_1 = -\frac{1}{m_2}$

$$\frac{2}{3} = -\frac{1}{1} \quad \text{hence, } m_1 \neq -\frac{1}{m_2}$$

$\therefore 3y - 4 = 2x + 3$ and $y - 5 = x + 6$ are not perpendicular to each other

Or, $-2x + 3y - 1$ and $-x + y - 11$ are not perpendicular to each other

3 $x^2 + y^2 + 3xy - 11 = 0$ (1, 2)

SOLUTION

$$2x + 2y \frac{dy}{dx} + 3(xy) - 11 = 0$$

$$2x + 2y \frac{dy}{dx} + 3(x \frac{dy}{dx} + y \cdot 1) = 0$$

$$2x + 2y \frac{dy}{dx} + 3x \frac{dy}{dx} + 3y = 0$$

$$3x \frac{dy}{dx} + 2y \frac{dy}{dx} = -2x - 3y$$

$$\frac{dy}{dx} (3x + 2y) = -(2x + 3y)$$

$$\frac{3x + 2y}{3x + 2y} \frac{dy}{dx} = -\frac{(2x + 3y)}{3x + 2y}$$

$$\frac{dy}{dx} = -\frac{(2x + 3y)}{3x + 2y}$$

$$m = \frac{dy}{dx} \Big|_{(x,y) = (1,2)}$$

$$-\frac{(2(1) + 3(2))}{3(1) + 2(2)} = -\frac{(2+6)}{3+4} = -\frac{8}{7}$$

$$m = -\frac{8}{7}$$

Tangent: $y - y_1 = m(x - x_1)$

$$7 \times (y - 2) = -\frac{8}{7} (x - 1) \times 7$$

$$7y - 14 = -8x + 8$$

$8x + 7y - 22 = 0$: which gives you the equation of the tangent.

Normal: $m_2 = -\frac{1}{m_1} = -1 \div -\frac{8}{7}$

$$m_2 = \frac{7}{8}$$

$(y - y_1) = m_2(x - x_1)$

$$8 \times (y - 2) = \frac{7}{8} (x - 1) \times 8$$

$$8y - 16 = 7x - 7$$

$-7x + 8y + 9 = 0$: which gives you the equation of the normal.